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Perplexing Polynomial Puzzle Directions: 
 
Photocopy the letters upside-down on the back of the puzzle pieces.  
 
Cut the pieces out and shuffle them. 
 
Give each group of students a stack of cards.  I tell the students that it is a puzzle that they need 
to figure out how to put together, and I will know by their actions that they have completed it. (I 
don’t give them any more information than that).  Warn them not to blow on the pieces or their 
work will be ruined. 
 
Make sure you have some candy on hand for the winners! 
 
 

 
 


